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QUESTION 1

The exhibit indicates the two show commands from an edge Ethernet Routing Switch (ERS) 5520-24T- PWR an
untagged frame arrives on port 10.which is configured as an access port To which VLAN will the packet be forwarded? 

A. All untagged packets will be placed in the default VLAN (VLAN 1). 

B. All untagged packets will be discarded. 

C. All untagged packets will be placed in VLAN 311 

D. All untagged packets will be placed in VLAN 31? 

Correct Answer: B 

 

QUESTION 2

An existing enterprise network is using Ethernet Routing Switch (ERS) 8600 switches in the campus core. It has been
determined that 10 Gigabit links are required to replace the existing 1 gigabit uplinks will affect is connections on each of
the ERS 8600 switches. Which statement describes how to accomplish this requirement in each ERS 8600 chassis? 

A. Replace the two existing switches fabric modules with 8394SF systems. 

B. Replace the two existing switch fabric modules with 8692SF and Supermez2 

C. Replace the two existing 8616SXE modules with 8612XLRS modules. 

D. Replace the six 8683XLK modules with 8612XLRS. 

Correct Answer: BC 

 

QUESTION 3

A technician is configuring 802.1 Q tagging, VLACP with short timeout, untagged frames to be discarded. Which part of
the network is being configured? 

3605 VCE Dumps | 3605 Practice Test | 3605 Study Guide                                2 / 3

https://www.geekcert.com/3605.html
https://www.geekcert.com/3605.html
https://www.geekcert.com/3605.html


https://www.geekcert.com/3605.html
2024 Latest geekcert 3605 PDF and VCE dumps Download

A. layer 2 core 

B. layer 3 core 

C. the edge 

D. the uplinks 

Correct Answer: D 

 

QUESTION 4

While configuring packet capture Tool (PCAP), an Ethernet Routing Switch (ERS) 8600 switch has generated the
following log: 

pcapAllocateBuffer: malloc(96 Mbs) failed 

Which event could have caused this log, and which course of action resolves the issue? 

A. The memory allocation failed to wrap. Set Pcmcia Wrap to true 

B. The packet capturing stopped. Enable the Buffer-wrap or reset the stats. 

C. The length of the IP frame is too long to capture. Turn on fragmentation 

D. There is not enough available memory for PCAP. Try with a lower value of buffer-size. 

Correct Answer: D 

 

QUESTION 5

A customer has security concerns with the current RADIUS authentication implementation and is asking to change all
authentication requests from the ERS 8000 to be directed to their TACACS+ server. 

What two differences exist between the authentication requests used by RADIUS and TACACS+ that would you cause
this concern for the customer? (Choose two) 

A. TACACS+ is a TCP-based protocol. 

B. RADIUS does not support AES encryption. 

C. TACACS+ uses full packet encryption. 

D. RADIUS uses clear passwords. 

Correct Answer: AC 
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